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The table below shows the similarity of Methane and
water in molecular mass. They are also similar in both
size and shape. Why does Methane existin the gas state
with a very low boiling point?

A — Methane molecules are polar while water molecules
are nonpolar
B - Methane molecules are nonpolar while water molecules
are polar
C - Methane molecules form hydrogen bonds with each
other
D — The attraction forces between Methane molecules

are very strong
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Which of the compounds listed in the table Ae Jo U sl Jgaall 52 el Sl sl e g

below would react with bromine?

A — Compound 1 only *-‘-"“’;4"

el
MNumber

B — Compound 2 only
CH; - CH; - CH, - CH; - CH; - CH
C — Compounds 2 . 3 only o

D - CﬂmpDuI]dE -l . 4 DI]I}' CH? - CH‘E _CH =CH_ CHE _CHi

Fad

CH=C - CH: - CH: - CH: - CH;

CH; = CH:; = CH - CH; = CH;

CH;

T agd
dadi ] Sl A
kid2 £, - B

aid 3 42 5 - C
hil g 5] E4-D




Which of the compounds in the table is

a saturated hydrocarbon?

A — The compound 1 only

B — The compounds 2, 3 only
C — The compound 3 only

D - The compounds 1, 4 only

SRS 3o ey Jgaadl 8 B2 ) gl S el e g

e
) R S, dadi ] oS el A
Compound Formula Compound
Number a3 g2 S, -B
CH; - CH, - CH, — CH; - CH, — CH; 1 hii 3HSJ‘]| C
CH;-CH:-CH=CH-CH2-CH3 2 E“Jl ..JL‘SJ""-'D
CH=C-CH, - CH,~-CH, - CH; 3
CH; - CH; - CH - CH; - CH; p
CH;




In the fractionating tower used for petroleum
separation, Which fractions are drawn off in
the cooler regions near the top of the tower?

A — Fractions with lower boiling points

B — Fractions with higher boiling points

C — Fractions with big molecular masses

D - Fractions with larger carbon chains

¢ ol il oS Juad d anai) 45 il oy S
8390 Y hlid) 8 = jlall L a4 o) Y
Sl o Oa il

JEV el a0 3 ¢RI — A

e gulad cla b o) 2l - B
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What is the correct ranking of collection for the compounds P syl hom A0 S maaall T L
listed in table below when distilled out from a mixture? A ENPI PR S i R PXENT
(Rank the compounds in crder of first to distill to last to distill) (AN Sl D il B ] 1 ) s )
A — Octane - hexane - butane - propane - s -Clala o S ei- A
B — Hexane - octane - propane - butane Ogme Sy - JES4i- GlSa- B
C — Propane - butane - hexane - octane S g - Sl - g Sy - C
D — Octane - butane - propane - hexane GlaSa - g - GEas GES4- D
JES | eaw | e | SeSe il
Octane | Propane | Butane | Hexane Compound
1257 | 421 | 05 | a7 |(€1) =
Boiling Point




What is the name of the following alkane o) @ aladiuly 400N 4500 dapall 53 HISIY) anl L
Using IUPAC rules? fIUPAC

A — 2.2.3-trimethyl — 4,6 — diethyl heptane OEa S S 664U S-30262-A
B — 4,6- diethyl— 2,2 .3 — trimethyl heptane Sl Qe A_3¢2¢2J08 S _6:¢4 -B
C — 3.6.7.7-tetramethyl- 5—ethyl octane S -5 - Jie 2y —T¢T746¢3 -C
D - 4 —ethyl-2.2,3.6-tetramethyl octane JES g ol —6¢3¢2¢2-J-4-D

CH,—CH, CH,—CH,
CH3—CH—(|3H—CH2—(IZH—CH3
CH—C—CH,

i,




What is the correct structural formula for the

following cycloalkane?

(1—ethvl —2. 4.5 —timethyl cvelohexane)

¢ A Al B Ay all A Aapall L

(Al Jhust Jua D 50402 J-1)

C

A

CH,

CH,

X

CH.CH, O:EHZEHi
i

CH;

CH,CH;

CH CH,
U CH,CH,

3 CH,CH,




Which of the compounds shown in the table
below is an unsaturated hydrocarbon?

A — Compound 2 only

B - Compound 1 only

C - Compounds 2 and 3 only

D - Compounds 1 and 3 only

3 2

CH, H

QCHI H\ g
C=
7/

am— 0,
aa— g —dc
ar—= 0 =ar

05205 50 i slial Jsandl 853 ) gl LS el e

Caadia

b ) € dl- A
L] £, -B
L3 92 Sl - C
L3 s1o8,d-D




What is the correct structural formula for the
following alkane?

(3.5 —diethyl — 1.2 — dimethyl cyvclohexane)

.;L'Lh dle.‘ :la,_h.uajl @Lu“ :Li.ya.“ [

(Al Jlult Ja (AE 2 01— (&) A5 3)

D C B A
CH,CH CH,CH CH CH
CH, CH,CH, " CH, CHiCH, CH,CH, CH, CH,CH,
3




S yailas go wl leo ol

Which of the following is a property of alkanes?
A — all the alkanes bonds are polar

B - Soluble in water

C - They forms hydrogen bonds among each other

D — Have a low chemical reactivity

PoUSY Jallad S L les g

Al L dad g ) en - A

shall A fusllalii - B

oanll L G A o a5, 85 - C
diniai A kit gl - D




What is the name of the following alkane using
[UPAC rules?

A — 4 — ethyl — 4— methyl octane

B — 4 — methyl — 4 — ethyl octane

C — 3 —methyl — 3 — propyl heptane

D - 3 — propyl-— 3 — methyl heptane

o) g alaaiuly Al 450 dapall o3 IS aul L
¢ IUPAC

OOS Jfise - 4— Ji)—4- A

OSei Jfy) -4— Jfse—4 -B

S dasn -3-die-3 -C

Ohs Jie -3 - Jusp—3-D

CH3

I
CH3CH,CH,CH,CCH,CH;

CH,CH,CH3




Which of the following molecular formulas represents

a cycloalkane with six carbon atoms?

A —CsHs
B - CsHjp
C - CsHin
D - CeHys

& iay Gila Gl (Jas 400l 4y jall dnall e 4
Con S Ol pa lo

CsHs -A
CsHypo -B
CéHpp -C

CeHis -D




What is the correct structural formula for the
next cycloalkane?

(1,5 —diethyl -2 , 4 — dimethyl cyclohexane)

¢l sl SIS Al A daall L

(il st i (A5 402 J& A 5:1)

C

A

CH

CH,CH,

CH,CH,

CH;CHg \QCHICH)

|
CH,3

CH,CH,

CH CH,
Ucnzcug

CH,

CH,




Which of the following is not a property of
alkenes?

A — Are nonpolar organic compounds

B - Have low solubility in water

C - Have high melting and boiling points
D —Are more reactive than alkanes

Pl ailiad e Sl G Lea 4

Ak b Ay S e - A
huaidie gl 8Ll ALl - B
Al e lible 5l Jleail a2 - C
UK e Slelis SST_ D




Three of the structural formulas shown in the o sl Jgaall 3 50 ) gl ASL Auall (e &30

table below are structural isomers to each other. Y Al dapall L ¢ Sl Leaan d 4505 & e g
Which formula does not represent a structural 5 AN S yall B ) e gl Sl

isomer for the other compounds?

CH; - CH, - CH - CH; - CH;
CH; A
CH; ~ CH; - CH; - CH; - CH; — CH; B

CH, - CH;
CH; - (|: - CH; c

-
CH; CH;
CH; - CH—CIH—cﬁz D
CHs




What 1s the molecular formula of the

alkene which contain 7 carbon atoms?

A—C;Hys
B - C;Hyq
C-C7Hi

Sy sl HSBU A jall dapall A L

TSNS SN T Lo
C:His -A
C/H;s -B
C/Hy; -C
C;Hyp -D




Inrelation to the compounds in the table below. 2L Jgall B 52, g Gl pally 3las Lok
Which of the following statements is correct? fhanua 4 el gl
A — The compounds 1 . 2 are aliphatic hydrocarbons ALl Aaidie A0 clig Ko 2 51 Skl - A

with low reactivity ALl Adaidie A0l o)) cligSguae 2 5104l - B
B - The compounds 1 , 2 are aromatic hydrocarbons Loda 1) Jald Ryl sasous 3suall - C
with low reactivity By Jolitag jiiows 52 Tyl GsSests 3854 -D
C —Compound 3 is a fairly unreactive aromatic A
hydrocarbon
D — Compound 3 is an unstable and extremely
reactive aromatic hvdrocarbon

H—C=C—H | CH,= CH,




What is the correct name of the alkene with el A5l dapall 53 SIS maaal) Al L

the following structural formula?

A — 3 —methyl — 6 — ethyl — 5 — octene O S dil-—6-die—3 - A

B - 6 — ethyl -3 — methyl — 5 — octene Ol 5- Jfe—3-Ji-6 -B

C - 3 — ethyl — 6 —methyl -3 — octene G —3—dfie—6-di—-3 -C

D — 6 —methyl — 3 — ethyl — 3 — octene O —3-di-3-Jfe—6 -D
CH,—CHj CHo-CH,

|
CH3-CH—CH,-CH=C




What is the number that refers to an Sl e s S308 o g a8l L
asymmetric carbon atom in the following e Sl
compound?

A-1 1 -A
B-2 2 -B
C-3 3 -C
D-4 4 -D

1 2 3 4
CH; - CH- CH - CH, - Cl
CH; Cl




What is the name the compound with the following
structural formulausing IUPAC rules?

A —6—ethyl-2, 2 dimethyl —3- heptyne
B-2,2,6-trimethyl — 3- octyne
C-3,7,7-trimethyl — 5- octyne

D — 2—ethyl— 6 .6 - dimethyl — 4 - heptyne

Al 4000 AU Aisall 53 S all acd L
SIUPAC =148

Odiss 3 — Sl AB_2¢2-J4 -6 -A
O3 Jhe M- 6¢2¢2 -B
GRS —5— Jle - 76743 -C
i 4 Qe B 6¢6-J4-2 -D




What is the correct structural formula of S el daaal) 4500 dapall L

the compound ( 4 —methyl — 2 — hexene)? T (Ot 2 — Jia— 4)
AT e
Structural Formula Al dasall Symbol
CH;
| A
CH;-C=C-CH-CH;-CH;
CH;
| B
CH3 -CH=C- CHz —CH;—CH;
o
CH; - CH = CH — CH - CH, - CH; C
CH;
| D
CH;-C=C-CH; -CH-CH;




What is the general formula of alkynes? TS dalall dipall b L

A — CnH2n+2 CnH2n+2 - A
B - CnH2n+l CnH2n+l -B
C- CnH2n-2 CnH2n-2 -C

D - CnHzn CnHzn - D




Three of the structural formulas in the table below oo o0 Jgaall B gl A0 dsall e 836

are structural isomers to each other. Which formula Y Al disall La o andl Lecan J AN, &l e g
does not represent a structural isomer for the ¢ 5 AY) S jall Giliy 15 g 30 e

other compounds?
A —Formula 1 il A
B - Formula 2 2 dindll -B
C —Formula 3 3 dasall - C
D - Formula 4 4 4apall D
Hj (|3H3
CH3CHCHZCH3 CHstHa
CHsj
CH2CH3
CH31'3HCH 2CH3 CHaCH,CH2CH4CH3




According to the compounds in the table below.
Which of the following opinions is correct?
A - Compound 1 can form geometric isomers because
each carbon atom bonds with different atoms
B - Compound 2 can form geometric isomers because
it has a double bond
C - Compound 3 can form geometricisomers because
it has a double bond and each carbon atom around it
bonds with different atoms and groups

D - The three compounds cannot form geometric isomers

1. ol Jsaadl 8540 ol S ally alal; Lok
fAagaadgllall g1 Y

s gt gl (555 1 gl gobions— A
Adlie ol 3 52 S 53 JS Bl )

o Apeatin O pag ol (eSS 2 Sl ki — B
4,020 a0 agg

e Apeatid &l Jag ol (29S8 3 Gl ki — C
Cu9aUSh (33 (e JS B N g Al dngh 1) 39y
AANS, S ganay ol kgl

Aratis O ga g Jul (50 goadaios Y AN LS all — D

CH,

| s H B8
CH,CH,CHCH = CHCH,CH, | CH,=C— CH, —CH, H—i:—(ls—H
H




Three of the structural formulas shown in the o ol Jsaadl 85 ) ol Asldl aall (e 4535

table below are structural isomers to each Y A Haall b pandl Lesand 450 & e g

other. Which formula does not represent

a structural isomer for the other compounds?

s AY Gl Hall Wil | e gm0

(I:'Hz - CH;
CH; -CH,-CH -(l:H—CHg - CH;

CH;

N

CH; -CH;- C -CH;-CH; - CH;
|
CH;

.
CH; -CH,;-CH -C|H-CH; - CH;

CH;

?H; - CH;
CH; -CH,~ CH -CH,-CH, - CH;




What is the
aromatic compound present
atmosphere due - |
to the incompl o

. : ete combustion of PRI

. b Y S

B 2‘3 compound 1 52053l sl sl e 31 Y -

- The compound 2 )
1 Sl
- A

2 <=, -B

ot e el
e Nephibal
lene

S @@ -
5,




What is the correct name of the alkene with 40Ul 48 drpall g3 S maall Al L
the following structural formula?
A — 3,6 —dimethyl — 5 — ethyl — 3 — octene | (iS¢i—3 — il — 5— Jda A 6. 3- A
B - 5—ethyl -3,6 — dimethyl — 3 — octene | (&Sd—3 — Jfsa A& 6.3 - J&l—5-B
C - 4—ethyl — 3,6 —dimethyl =5 — octene | (588 —5— Jisa A 63— Sl —4-C
D — 3,6 —dimethyl — 4 — ethyl — 5 — octene | (S¢i—5— Jdl— 4— Ja A 6. 3-D

CHZ-CH3

|
CH3-CH—(|:H—CH=C/

CHz‘CHs

CHZ-CHg CH3




Three of the structural formulas shown in the o 903 Jgaall 8 By ) gl A0 duall e 4336

table below are structural isomers to each other. Y Al dasall Lo ¢ ) lean ] 400 & e g
Which formula does not represent astructural T AY LS Hall s 15 g i S

isomer for the other compounds?

CH; - CH; - CH - CH; — CH;
CH; A
CH; - CH; - CH; — CH; - CH; - CH; B

CH, - CHs
CH; - (|: - CH; c

CH;
CH; CH;
CH; - CH—C'H—CH: D
cH,




Identify the pair of geometric isomers among A5 3aaa Oi O Asmdig) S AW g e

the following structures. Explain your selection SR ek ¢ AN AU Asal)

A-"17,"2" because of the different arrangements Gl ganal AABAAD Gl 3D s "2 My M 1M A
of the alkyl groups around the double bond AL Al ) Jaa S

B- " 37," 4" because of the different arrangements ol Abaa) Gl A s 4" 9 "3 " - B
of the same alkyl groups around the double bond AUED A ) Jga JSI) Cie gana

C- " 17," 3" because of the ability of the Ao b Jea o S Qi ems "3y "1 - C
double-bonded carbon atoms to rotate Sl e A

D- " 27," 4" because of the difference in the structural | oS all 45U fual MG s "4 " 5 " 2= D
formulas of the two compounds

C{ic,_c/cu,ca, C{::;— ) /CH;
/- \ 3 /. O\ 1
CH,CH,  CH, CH;  CH,CH,CH,
CH;  CH, G CHCHCH,
C= C=C
S=C 4 /A 2
CH,CH; cHch] CH,CH; CH;CH,




What is the correct name for the aromatic compound falia) Joidly Ll (a9 Y S jall ) pul e

shownin the figure below?

A —(1—propyl-3 — methyl — 4 — ethyl benzene ) (eRd—4-Jfm-3 Jusr—1)- A
B- (1-ethyl-2— methyl—4 — propylbenzene) (edesn—4- Jim-2 -Jd -1) -B
C- (1—propyl-4—ethyl — 3 — methylbenzene) (i dim-3 -0l —4-dmsn—1) -C
D- (1-ethyl -4 —propyl— 6 — methylbenzene) (s —6- Jmsn-4 -J=l-1) -D
CH,CH,CH,
CH,




i What is the correct structural formula of the compound & jall sl 32l Aa il L

(3 —eth¥l — 4 —methy 1. 4 - hexadiene)? Tomshuit_ 40 1= G - 4 — i 3)
b
Structural Formula ALl Al Symbol
CH;
| A

CH; - C=C-CH- CH, - CH;

I
EH,—E‘H=E‘—E‘II—C‘H=CH: B
CH,
P
EH,—¢H=¢—¢%‘H—¢H=EH; c
CH; - CH;

CH;
|
CH; - C = C - CH, - CH - CH;




What is the correct name for the aromatic compound

shown in the figure below?

A - 3 - propyl- 1,4 — diethyl benzene
B - 1,4 —diethyl - 5§ — propyl benzene
C- 1,4 —diethyl -3 — propyl benzene
D- 1,4 —diethyl -2 - propyl benzene

PoLial JAIL fpudll a5 V1 oS pall maniall ) L

i S gi1-Jusn -3 - A
Ceredmen —5-08 A 441 -B
Giridmsn —3-0Ml G — 441 -C
CiFedmss —2-Jsl A 441 -D

CH,CH;

CH,CH,CH,

CH,CH;




Which of the compounds presented in the table below il ya g a4l sl J gaall B B2 ) gl S i g

¢ Ao
il "] S ddl- A
L ") " £ B

have geometric isomers?
A - The compound "1 only
B - The Compound "2” only
C - Bothcompounds " 1 "and" 3" only "IN g ] S el e SIS C
D - Bothcompounds " 2 "and" 3" only "IN g "2 Sl eSS D

3 2 1

Cl H

[
CHCH.CH= CH, | CHiCH=CHCH; | H—C—C—H

HC




Why are alkenes more reactive than alkanes?

A — Because the second covalentbond decreases the
electron density between the doublebond carbons

B - Because the second covalent bondincreases the
electron density between the double bond carbons

C - Because they are saturated hydrocarbons

D — Because the reactants cannot pull the electrons

away from the doublebond

CLUY e Shelis i Sy aed 13

i g IV A4S0 IS A dsealodd) ddad ) Y - A
Al ddayd 0 e S (S O

Az g IV AR &8 3 AU dpaldl dad ) Y - B
Al ddayd 0 e S (S O

fasie clip Sy @Y - C

fmy g IV a1 Y Aleliid) Mgl (Y — D
R




What number refers to the asymmetric carbon AL g g 815 50 I g o308 0L
atom in the following compound? £ Al oSl
A—-1 1 -A
B-2 ? -B
C-3 3 -C
D-4 CH3 4 -D
CH,CHCH,CHCICH,

1 23 4




Which of the structural formulas shown in the table
below represents the compound

Ethanamide (acetamide)?

A — The compound " 1"
B - The compound " 2"
C - The compound "3 "
D - The compound " 4"

S yall Jidd sl J gaall A8 ) gl A0 Anall (e 5

f(spalim) el )

" ln \-ﬁ_;.d! -A
naoywn -_IS_)J -B
nan ‘—‘S_)‘” -C

"nog4n \—ﬁ)ﬂ-h -D

H H O H H

| | 1 |
©c=o H—C—C—C—C—H 1

H H H

H O HO g

[ | . | /

H—C—C—OH H—C—C—N{ 2

H H H




Why ethers are generally more volatile and have much Flgle Cia jo g Wil ALE Jio) Y 0 S8 1ol
lower boiling points than alcohols of similar size and Taaadl s ady jadialill 3 L 4y gl SV gasll e
mass”?
A -Reason" 1" only L] el LA
B - Reason" 2" only L") "ewdl B
C-Reasons' 1" and " 2" together Ge" 2" M1 MOl - C
D - Reasons" 3" and " 4" together Ba"q s "3 od oD
p
Explanation sl Num
S P 1B 5 e el e g S S
Because ethers have hydrogen atoms bonded to the oxygen atom 1
ol Ly b s s 5 U8 O eSe B S e oY
Because ether molecules can form hydrogen bonds with each other ‘
S A eS8 2 A e g D 2 g g e
Because ethers have no hydrogen atoms bonded to the oxygen atom 3

ol lgaany O Ak g a Syl 005 O S Y Y1 e Y
Because ether molecules cannot form hydrogen bonds with each other 4




Which of the following formulas represents
Cyclohexylamine ?

el la Jousa JBEAI jnall i




Which of the following structural formulas represents

the compound Butyl methyl ether?

S pall S AN A Asall Ga g
e Jiise Jdigm

CH,-O-CH,- CH,-CH,-CH,

CHj_ CH: _O—CHQ- CHz_CHz_CHJ A

CH3-CH2-0-CH2-CH2-CH3

CH,- CH,—O— CH, B




Whatis the correct name for the compound
shown in the figure below?

A —(3 —methyl —2 —chloro butanone)

B —(2 —chloro - 3 — methyl butanone)
C—(2—chloro —3 — methyl butanal )

D —(3—chloro -2 — methyl butanal)

il JUAN i gall S jall maall anY) Le

(Oslom susls -2 i 3)- A
(Coiomdim -3— 5055 2)-B
(JNSlsm i -3 5usis- 2)-C
(JSlsm i 25558~ 3)-D

CH,
|

O
|

CH;-CH-CH-C-H

|
Cl




Compared to Aldehvdes. Why are Ketones popular
solvents for other moderatelv polar substances,
including waxes, plastics?
A — Ketones are nonpolar organic compounds
B - Ketones are polar organic compounds with
lower reactivity than Aldehvdes
C —Ketones are polar organic compounds with
higher reactivity than Aldehvdes
D - Ketones differin their properties from
Aldehvdes because their structures are

different

Baaa Clple CliGECH et 13lal c o Ay ga A3 Es
€I g & pall Lgla g dpail) A, gl 4y pdanll LS sall

Ayl L8 Ayl CLS e Gl — A

il 21 (e Ut B gl g A A puoe it o il — B
S A G Ul ) Lyl g A A gl LS e SIS - C
Gl Y 08 Lgaaliad 3 158 U (A8S cligtl — D




What is The functional group that aldehydes have? Tlaa sl e o giad A4 i de seadl L

D C B A
O
I Il
-X —C—OH -OH —C—H
What is the functional group in alcohols? Py sl A s A Gkl gl i paaeddl b




Which of the following compounds ionizes in water
and forms a solution which turnsblue litmus paper
red?

A —The compounds " 1" ," 2" only

B - Thecompounds " 2" ," 3" only

C - Thecompound "4 " only

D - Thecompound " 3" only

O Il Y stae il g elall 8 0 4000 S i g
M G5 e el LS A8

PARL 2Mm gy _'JLIS_)‘-“-A
hii"sllJHZH ...JL;‘SJ""'B

Lygan 4" ‘_15‘)‘“_(:
Lagan 3" ‘—‘S'_J'"“"D

H H O H H

| L1l
©_(:=0 H—C—C—C—C—H 1

H H H

oo Ho oy
H—C—C—OH N7 2




What is the correct name for the compound shown in 95l JSl i sl S yell el 4l L

the figure below?
A — (4 —ethyl—3 —chloro—2 — pentanone) (O -2- 50l 3-8 4)-A
B — (3 —chloro - 4 — methyl—2 — pentanone) (Gl 2 -Jim -4 5058 -3)-B

C—(2—-methyl-3 —chloro -4 — pentanone) (O —4-5098 _3-Jim_ 2)-C

D — (3 —chloro - 2 — methyl—4 — pentanone) (Gl 4 i _2- 5088 3)-D

CH; O
| |
CHyCH-CH-C- CH
Cl




O aiSs 'Jalh;,‘a:.:.;.m, '1;.1‘,1.¢‘y1;,.¢¢i
el g e s Joilag — 1

Which of the following Esters results from a condensation

reaction between
1-Propanol and Ethanoic acid? "1 -A
A- "l" nzn_B
B_ uzn l1'3"_c
C- nm3n "4 " -.D
D- "4n"
7 7
CH;~C - 0 ~CH,CH, CH;~C ~ O ~CH,CH,CH,
o ] (')
]
CH,CH,CH,C ~ 0 ~ CH,CH, CH;~C - O — CH,




What is the functional group that carboxylic acids

have?

ﬁm&i%ﬁsépﬁéﬂliﬂg}aﬂlaﬂy&dl e
Ll o

D C B A
0
T |
-X —C—OH - OH —C—H




Why do alcohols have much higher boiling points than

hydrocarbons of similar shape and size?

A- The alcohol molecules can form hydrogen bonds
with each other

B- Alcohols are non-polar organic compounds

C- The attraction forces between the alcohol molecules
are weaker than the attraction forces between the
hydrocarbon molecules

D- The polarity of alcohols is weaker than the polarity
of hydrocarbons

clas G Lo aY gakl GLIE cila s (S 13l

Taaally JSAIL Lt AlilLaall ol Sooued) (LB

Al g n By g (s Y satl) iy (%45 A
el gl G

Akl 4 gie LS e <l B

58 (il oY gasll iy Ja G o3l o $8-C

g S g tag) Apadd (e clnial oY gasl 408D




Which of the following Esters results from the
condensation reaction between Ethanol and

Butanoic acid?

o iS5 JE S (e iy A0l il el (a1
s gilgaall Glaaa g J35Y)

¥
CH,—C — O — CH,CH,

O
Il
CH] — C — O — cHchchl

O
Il
CH}CH:CH)C o 0 o CH:CH;

1
CHJ_C_O_CHJ




